@@ @® @

S

WE®OEROOO

WE®EO

D/No PS105-02
Ferrate Bead 2
JR Typre
3P Connector All maker 1

compatible

Pulse Translator

Three-forked Pire

2nd Bearing

Plain type

3rd Bearing

1

1
Cable 1
POT Gesar 1
POT Pinion 1
Screw SUS M3-18 4
Cushion Rubber 4
Washer #5-t0. 8 4
Screw M4 -20 4
0 Ring G80 1
0 Ring P12 2
Cable Lock 1
Screw M3-8 2
POT 107 Cycle !
POT Mount 1
Screw M3-8 2
Servo Amp 1
Screw M3-6 2
Motor Pinion Brass 1
DC Motor Canon CN38 1
st Bearing 0il less 2

2

2

Plain type

5 ORWOOOORPEPORPRRLELRPLRPEOLRLERPORPEOELEPEOE @ (@

Bottom Bearing Plain type 1
Tor Bearing Plain type 1
I1st Gesar Hybrid 1
2nd Gear Hybrid 1
3rd Gear Hybrid 1
Main Shaft SUS303 1
Key Steel(S55C) 1
Set Screw Steel 1
Stop ring SuUsS 1
Horn Steel(S45C) 1
Casing Al Die Cast 1
Middle Plate Al Die Cast 1
Upper Case Al Die Cast 1
Descrieption Remarks Qty

SSPS105 Airoview

Designed by

Bando |

Date [01,01,03

Scale

TONEGAWA SEIKO Co.,LTD




